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GENERAL APTITUDE TEST

Paper-11
Find the missing term (____) in the following :
N5V,K7T, ~~ E14P,B19N
(@ HIOR (by H10Q (¢c) T10R (d H9R
Choose the correct number from the following :
B:16::D:?
(@) 150 (b) 200 (c) 256 (d) 276
A is B’s sister. C is B’s mother
D is C’s father. E is D’s mother.

How A is related to D ?
(a) Grand mother (b) Grand daughter (c) Grand son (d) Grand father

Choose the word from the following, which can not be formed by using letters in the word :
‘RECOMMENDATION’

(a) MEDICINE (b) MEDIATE

(¢c) REMINDER (d) COMMUNICATE

If the radius of a circle is doubled, its area increases by

(a) 100% (b) 200% (¢) 300% (d) 400%

Choose the best related alternative (?) from the following :

Calendar : Dates : : Dictionary : ?

(@) Words (b) Books (c) Language (d) = Vocabulary

A man walks 1 km. towards East, then turns to South and walks 5 km. Again he turns to
East and walks 2 km. Then he turns to North and walks 9 km. How far is he from the
starting point ?

(a) 2km (b) 3 km (¢) Skm (d)) 9km

A man is facing South. He turned 135° anticlockwise and then 180° clockwise. In which

direction he is now ?
(a) North-East (b)  South-West (¢) = South-East (d) West

If + stands for x, — stands for +, x stands for — and + stands for +, then find the value of
206+ 74 -4 x5+ 2.

(a) 336 (b) 376 (c) 428 (d) 478

Which term of the series

5,10, 20, 40, ........ is 1280 ?

(a) 8™ (b)) o ) 10" (d) None of the above
Consider the six statements :

A : All balls are locks. B :  All keys are locks.

C : All keys are balls. D : Some keys are locks.

E : Some locks are balls. F : No ball is lock.

Choose the option which indicates a valid argument containing logically related
statements, that is, where the third statement is the conclusion drawn from the preceding
two statements.

(a) ACD (b) BEF (c) CDE (d) CEF

Consider the following statement and the arguments and decide which of the argument is
strong.

Statement :

Should income tax be abolished in India ?

Arguments :

L Yes, it is a burden on wage earners.

II.  No, it is a good source of revenue.

(@) 1 (b) 1I (¢c) TandIIboth (d) None
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TAfeiad & ST g31 ug ( ) T ST |
N5V,K7T, ,E14P,B19N
(a HIOR (b)y H10Q (¢0 I10R (d HI9R
feferfiad & @ 9&t 9w g
B:16::D:?
(@) 150 (b) 200 (c) 256 (d) 276
A BRTEAZ IC,BHTE | CHUTDEZIANMDHAER |
A RO TR D | Frafea § 2
(a) AT (b) A (c) At (d) T
Trfetfiaa & § 39 9155 S 9T ST o6 91s ‘RECOMMENDATION’ ¥ Uga 316RT ¥ et & GahaT |
(a) MEDICINE (b) MEDIATE
(¢) REMINDER (d) COMMUNICATE
T T g Y T S SRAT SR T ST o ST &1 9 ST 8
(@) 100% (b) 200% (©)  300% (d) 400%
f=ferfiad & @ 3uga fasked () IHT
Calendar : Dates : : Dictionary : ?
(a) Words (b)  Books (c) Language (d) Vocabulary

T AT d ot 3R 1 fepelt. Toieln &, TR feor ot 3T gt 5 TohHl. el & | I a gd ot 31 g
2 fepmt. Tt e | Y 98 SR ot 3TR Fgahe 9 Torl. Tet & | g FRiEeh ety 9 febe X & 2

(a) 2 TepHT. (b) 3 fomt. (c) 5T (d) = 9 fep.

TS AT I IS il 3R YE Feh @1 & | I8 TEI Sl Ge I T 990 § 135° 1 ¢ 31
TR oIt i g ol g9 3 180° Ha1 & | 379 o8 b feem & Te1 8 2

(a) SR (b) shREruEm (¢)  SRorgg (d) ufem

FE+ I AT X, —HI AT +, X W AT — A+ W AT +, W26+ 74 -4 x5+ 2HAAT

T HITSTT |

(@) 336 (b) 376 (c) 428 d) 478

gt 5, 10, 20, 40, ........ FHTHT AT 1280 T ?

(a) 8af (b) Oar (c) 10dT (d) T FHIE T
= feu T 6 e g

A A € | B : wiwfsiasd |

C : o ot 75 & | D : Fodldidcie |

E : FSTATGE | F : SEIGAen&e |

Tt foehod g+ e T e FeRy g 3R 98 (RS 9get 3T oot J1 el | FHehren T § |
39 R IAT 7T aehed Ueh UHT 9 SAR[H= g1 579 d1fheh €9 ¥ S[¢ gU Iorded gl |

(a) ACD (b) BEF (c) CDE (d) CEF

T T3 T3 e T T H A T §U g 7 Y (h HI TT ek ISR §

<he :

T RA T TR FI GHE FT 37 AT 2

T -

I &, 7 a0 9ifiE R us S g |

I &, 9 ST ol STDT AL |
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(@ 1 b) 11 (c) I@NIIIE  (d) e Tl
13. Consider the following statement and assumptions and decide which of the assumption /
assumptions is / are implicit in the statement.
Statement :
Let us increase the taxes to cover the deficit.
Assumptions :
L The present taxes are very low.
II.  Deficit in a budget is not desirable.
III.  Deficit can not be met without increasing the tax.
(a) TandII (b) Tand I (c) I (d) IIandIII

14. If 25™ May in a certain year is a Sunday, then which day of the week will be 25"
December in that year ?
(a) Thursday (b) Friday (c) Saturday (d)  Sunday

15. Consider the statement given below :
‘Idle brain is a devil’s workshop.’
Which of the following has same logic ?
(a) Hardwork is the basis of success. (b) A person without work is rebellions.
(c) Educated people are cultured. (d) Players are physically healthy.

16. It takes 3 hours to fill a tank but because of some leakage at the bottom of the tank, it
takes one more hour to fill the tank. In how many hours, the tank becomes empty just

because of hole ?
(a) 8 (b) 10 () 12 (d 14

17.  Which of the following graphs can possibly represent the motion of a car on road ?

g

(]

S g =
(] (]

S Q Q

@ = 52}

A e /
o —
]

Time Time Tlme

I 11
(a) Tonly (b) TandIlboth (¢) IIand IH both (d) None of the above

18. Six persons K, L, M, N, O, P are sitting around a table as per the following conditions :
1. Kand L are opposite to each other.
2. M is to the left of K.
3. O and N are opposite to each other.
4. Pisto the right of N.
Who is to the left of L ?

@ M (b) P ¢ O (d N
19. Which one of the following pairs of words is not rationally related ?

(a) Gold : Ornaments (b)  Wood : Furniture

(c) Pitcher : Pottery (d) Straw : Nest
20. Which one of the following is odd one ?

(a) Peso (b) Phi (¢) Gamma (d) Delta

21. The monthly incomes of six employees of a company are 15,000, 18,000, 17,500, 30,000,
17,500, 28,000 (in rupees). The number of employees having income more than mode and
less than mean incomes is
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@ 0 (b) 1 d 3
qﬁ%ﬁﬂ'{ﬁ*wﬁ%uwdwﬁwﬂﬁ@ﬁ@ﬁﬂhﬁ%mwﬁrm&m/leqdll\ﬁh‘?Frﬁ
FAMETE /T |

HIT -
o i i & R ST ST |
e TR IGAFIE |

. S URIdDAaT8e |
1. ST 9 S@TU §U B1eT X 78T fohal ST \ehal |

(a) Taarll (b) I@rIIl (c) I (d) Il
e o o 3fe 25 TE i Yoo &1 fo1 & af 6T a9 0 25 o’ ol 9w o1 i 97 fa= 8 2
(a) TEAR (b) IERAR (c) IR (d) Toar
frafafiEa s 9 foar it

AT fCHTT 1™ i FEAIMATS 17

fr=feifiad § =9 91 dh 99 9= 8 2

(a) TR heAdl &l 3MER ¢ | (b) HrEREd i g ST e |

(c) hemeafmamead | (d) TaeTe! IRIRE ©9 @RI e & |

U Sl Sl WA U 3 HUS oA & Afhd Sehl & Tcl § &I alel RE1d & HRUT, $h! ol 91 o U
HUST T4 AT @ | [L@Tel & 0T Soh! shl Wietl &1 H feha 50 i 2
(a) 8 (b) 10 (c) 12 d 14

Trefoiad o © &1 91/ ¥ {ETes G O R i TicT i Gard: S9N e / S € 2

’ E@%/

I

(a) ol (b) I (c) Hsrnlaﬁ (d) T 9 HIE @
frferfiaa vt % SR 6 AR K, L, M, N, O, PAsT & ©§-fig 93 €

. KdaLUH TR & auiag |

2. KFHaAEIRNME |

3. OTINUH T & famide |

4. NHTEIPE |

L& e ARHAE ?

(@ M (b) P © O (d N
FrTeTiE STeR-g7Hi | | Sl 91 U diicheh €4 § (e el § ?

(a) 0T ; SATEOT (b) TS : TR

(c) ©ST: YT o (d) Taes : gigen
frafafaa & 9 = @ fa=1 (1) @ 2

(a) I (b) wE (c) T (d) <&

gl FIOT & T HHANGT S TINGH 3= (F9d H) 15,000, 18,000, 17,500, 30,000, 17,500,
28,000 % | TR sht TAT [SThT 3T TgeTeh & 31T qa1 UTeg & & &, gt
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(@ 0 (b) 1 () 2 (d 3

The following table gives the area (in square km) and population (in lakh) of four cities :
City A B C D

Area 125 140 180 200

Population 25 40 60 50
The least densely populated city is
(@ A (b) B (¢ C (d D

A number when divided by 8, leaves a remainder 2. If cube of this number is divided by 8,
the remainder will be
(a) 2 (b) 4 c) 6 (d) None of these

The following chart shows the percentage of Engineers, Labours and Administrators

working in a company. If total number of Engineers is 75, then the number of Labours is
12.5 %

Administrators

* L d .
: Engineers

Labours

(a) 100 (b)y 150 (c) 175 (d) None of these

The following table gives the annual profit of a company (in lakh rupees) :
2008-09 2009-10 2010-11  2011-12 = 2012-13

590 620 656 690 726
The period which has maximum percent increase in profit over the previous year is :
(a) 2009-10 (b) 2010-11 (c) 2011-12 (&) 2012-13

The following table shows the number of Science, Arts and Commerce students in a group
of boys and girls :
Science Arts Commerce Total

Boys 20 - 15 80

Girls 6 40 - -

Total - - 20 -

The total number of students in the group is

(a) 127 (b) 130 (c) 131 (d) 135

The following table gives the import and export (in million dollars) of a country :
Year 2010 2011 2012 2013

Import 150 175 170 200

Export 140 183 170 210

The average trade balance is

(a) 8/3 b 7 () 2 (d) 28/3
Electronic data processing is a modern technique of which of the following ?
(a) Programmed decision (b) Non-programmed decision
(c) Traditional decision (d) Promoting E-Governance

Your subordinate requires leave but your office work will be affected due to his absence
because he is a key person for that work. You should

(a) refer his matter to your superior.

(b) sanction the leave.

(¢) ask another person to do his work.

Series-A 6 LPS
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(d) meet him, discuss about the reason for leave and try to convince him the urgent need
of his presence.

22. FAfaRad ORol § IR TR S S5 (a7 R o) T ST (g §) S TS

TR A B C D
&TRA 125 140 180 200
S 25 40 60 50
AT SHHEAT T el TRE :
(@ A (by B ¢ C (d D

23. fordil S ol 8 | W S W 2 AW A & | SHI WA o B hl 8 W AN & UL I e ¢
(@ 2 b)) 4 © 6 (d) T 9 HIE T

24, Trefeiad TEres U S B BT SSNH-ERl, ASIgRl o YOGl T Uiaed S9ndr § | Ak
THITART ! ol AT 75 €, T TSGRI bl T gt

125 %

Y &

37.5 9 [s ¢ o] ST &

TSRY &

(@) 100 () 150 ) 175 (d) =9 ¥ HE T/l

25. Tre=fciRad ROl Ush HegH] & Siieh o1y (g &. §) S9il @
2008-09 2009-10 2010-11  2011-12  2012-13
590 620 656 690 726

TE GO SR STaH 370 et o st ot B SATehad Uiasid i g3 ¢, €
(a) 2009-10 (b) 2010-11 (c) 2011-12 (d)y 2012-13
26. fAfcRad RO cTgeht o cigiehdl & Uh e | o711, hofl o Sifurss o ferRnierar sht v 39 ¢ -
fos  wem @i @

AsH 20 - 15 80

wAgfRat 6 40 - -

T - - 20 -

T o et ferenteat o wwen §

@@ 127 () 130 ) 131 @ 135
27. WW@W@WWW(&WW‘&)W%

L 2010 2011 2012 2013

AT 150 175 170 200
BRG] 140 183 170 210
3T AR S ©

(a) 8/3 (b) 7 © 2 (d) 28/3

28. oI STHR-QE YshHoT (ST MafT) f=fatad § § fhat sy da-is & 2
(a) FSHEG 01T i (b) TR-ASHIEG 01T Fl
(c) WERIER fow w3 forg &6 (d) E-Ted & Sgrer 3 6t

29. 3T TR FHAR 1 gl AMGU W ITeh! TUNATT T 3MUF T9NT % HF HI THAH ghm
Fih 39 FHE & T8 T YT AT & | ST AT HIAT Mgy ?
(a) TH M H A IeT SAUFRI H AT T |
(b) TIHTRHIT | ’
(c) Tohdr 37 ATeRT i SHHT BT FH S o0 e |
LPS 7 Series-A
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(d) SHH T, I % FROT S OT6F | STl AR D U i SE¥IHaT & aR H 3
Tt A B T |

Authority means :

(1) power to take decision

(1)) power to communicate decisions to subordinates

(iii)) power to influence the behaviour pattern of people in organization

(iv) power to make subordinates socially responsible

(a) only (1) is correct. (b) both (i) and (ii) are correct.

(¢) (i), (i1) and (iii) are correct. (d) all the four options are correct.

The alphabet which appears in the middle of a meaningful word beginning with ‘A’ and
being formed by using the first, second, fourth, fifth and sixth letters of the word
‘CONTRACT is

(@ C (b T ¢ O (d R

In the process of communication, which one of the following is in chronological order ?

(a)
(b)
(c)
(d

Communicator, medium, receiver, effect, message
Medium, communicator, message, receiver, effect
Communicator, message, medium, receiver, effect
Message, communicator, medium, effect, receiver

33.

34.

35.

36.

Communication via new media such as computers, teleshopping, internet and mobile
telephony is termed as

(a) Interactive communication (b) Entertainment

(c) Developmental communication (d) None of these

A number when divided by 17, leaves remainder 5. What remainder would be obtained by
dividing the same number by 357 ?
(a) 42 (b) 41 = 138 (d 35

If a carton containing one dozen eggs-is dropped. Which one of the following can not be
the ratio of broken eggs to whole eggs ?

(@ 5:7 (b) 1:4 (c) 1:2 d 1:5
Which of the following statement(s) is (are) true about decision-making ?

1. Itis an act of determining a course of action.

2. It means choosing one alternative from among various alternatives.

3. Itis synonymous with policy-making.

(@ 1,2and3 (b) land?2 (¢c) land3 (d) onlyl

Instruction : Answer Q. Nos. 37 to 39 on the basis of the following data.
The food values and the unit price of a number of food items are given below :

Food % of % of % of Cost per
protein carbohydrate fats 100 gms ()
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75
37. Which of the following diets would supply maximum protein ?
(a) 150 gm. of A and 200 gm. of B (b) 100 gm. of B and 200 gm. of C
(¢) 500 gmof A (d) 350gmofC
38. All the following diets would supply at least 75 gms of fats. Which of these diets would

cost the least ?
(a) 200 gm of A and 150 gm of B (b) 500 gm of B and 100 gm of A
(¢) 300 gmof A (d) 200 gmofC

Series-A 8 LPS



39. If one’s diet has 100 gms. of A, B and C each, what is the amount of fat included in the diet ?
(a) 45 gm. (b) 50 gm. (c) 65gm. (d) None of the above
30. SIUHR T H ST
G) o # it
(i) T o STef=T i Grad S i IR
(i) ST T HERT ATHKTAT & HTER-TEY i YTl - ht IR
(iv) ST i HHETTSTh T § STRERN S i AT
(a) hoet (i) WETR | (b) ()T (i) S WEE |
©) (), (ii) 7 (iii) T | (d) =R fahea TErE |
31. U STIYUT I TSR URTT ‘A’ ¥ &, 9155 ‘CONTRACT’ & Ueet, TR, A, Urad 3R BS 3R
T ST | 56 AT Vg % WA H AR ¢
(@) C ® T ) O @ R
32. WSO UihaT § FTaiEd H | i AT HOhHNER € 7
(a) THYH, ATEAY, UTHal, T, <9
(b) T, TN, TSI, TThdl, T
(c) TBINEH, I, HTEAH, UTedehal, T
(d) T, GHITH, AT, YT, UTAhd

33. T3 reEw ol foh R, TAIT, e X AiaTsel Selithil & KT fht T8 YEIvoT i Fed ¢

(a) ST Tshar Toivor (b) TARSH
(c) foemrarcas geiwor (d) A9 9 FIE TaI
34. RO G 17 F qET A W 5 9 ST € | 3H T Bt 357 F AW S R FAT I T2 2
(a) 42 (®) 141 @© 39 d) | 35
35. U fosan ST0H Uh g7 37 €, TR STar & | Feafoiiad & & i 122 8T el &1 aga i 4
ST Tl &1 Fehell 2
(a) 5:7 b) 1:4 (c) 1:2 d 1:5

36. MR F IR b fafafad d @ S A/ @ Haa wE e /€ ?

1. T@HE A F a1 I AT |

2. TEH Y ¢ fafu= fadhedt O 9 U fashed T |

3. Tg ifa-fgier o waEert g |

(a) 1,293 by 132 (c) 1a3 (d) FHaet 1
e « frfefad sitehet & MaR W yv= |. 37 & 39 T T STR SISTT |
S W URTG1 I W UH a7 Th1s Yoo Hefafiad & -

W | M % T | FEERgE %W | T % W | qea i 100 9T ()
A 10 20 30 1.80
B 20 15 10 3.00
C 20 10 40 2.75
37. Tr=feiad & 9 &9 91 38R SAfaehdd e < 2
(a) A 150 UT. o B &1 200 7. (b) B 100 T & C 1 200 UT.
(c) A 5007 (d) C 13507
38. f=Afciiad @t SRR &1 € &5 75 UT. SE@TSd & | S0 9§ i 91 HBR Gl &l 8 ?
() AF200UT.a9BF 150 7. (b) B&H500UT. T AF 100 .
(c) A 3000 (d) C3H2007
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39. 3l el & AR H A, B d C yed® 100-100 UTH &l al ATeR & o471 st J1 feher1 8 2 _
(a) 457 (b) 507 (c) 65T (d) T 9 HIE T

40. The notation |£is defined as factorial n and it means the product of positive integers from
1 to n, for example |i: 1 x 2 x 3. Now form the sum S = |i+ I&"‘ |i+ |i+ ... UPLO oo,

If you divide this sum S by 8, the remainder is :

(@ O ® 1
c 2 (d) cannot be determined
41. The number of integers between 1 and 100 (including both) which are fully divisible by 3
or5is:
(a) 47 (b) 49 (c) 51 (d) 53

42. Study the following statement and the assumptions and decide which of the assumptions is
implicit in the statement.
Statement :
If it does not rain throughout this month, most farmers will be in trouble.

Assumptions :

L Timely rain is essential for farming.
II. Most farmers are generally dependent on rains.
(a I (by 1I (¢) Tandll (d). None of these

43. Consider the following statement and courses of action, decide which course/courses of
action logically follows/follow for pursuing.
Statement :
Nuclear power can not make a country secure.
Courses of action :
L We should stop further increasing our nuclear power.
II.  We should destroy our nuclear capability.
III.  We should focus on improving diplomatic relations.

(a 1 (b) 1 (c) I (d) IandlII
44. Study the following statement and the arguments and decide which argument(s) is (are) strong.
Statement :
Should seniority be only criterion for promotion ?
Arguments :
L No, it would be an injustice to those juniors who are more deserving and suitable for

higher position.
1I. Yes, otherwise seniors will feel humiliated.
III.  Yes, seniors are more experienced and must be rewarded.
(@) TandII (b) IIandIII © 1 (d) None of these

45. Study the following statement and conclusions and decide which conclusion is logical.
Statement :
Money plays a vital role in politics.
Conclusions :
L The poor can never become politician.
II.  All the rich men take part in politics.
a I (b)y 1I (¢ TandII (d) None of the above

46. Study the following statement and courses of action and decide which course(s) of action
is (are) logical.
Statement :
The migration from villages to cities is detrimental to both.
Courses of action :
L Rural postings should be mandatory.
II. Employment opportunities be created in villages.

Series-A 10 LPS
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III. There should be trains lining villages to cities.
@ I (b) 1I (c) III (d) TandIII

vciteh | n Sl HeRINEE n el STl & 3 g8ehl 3 & WA | ¥ n T & &A1 qUiiehl bl 0T,
|i:1x2x3.3W3TNQEFWSWGl%VTWS:Ii+|£+Ii+|i+.....?FIFTHE|

I ST T S i 8 W WNT T ot 1Y F=
@ O ® 1

© 2 (d) TuTRa et fowar S gehar
1@looaﬁaﬁaﬁ(ﬁaﬁwﬁﬂwﬁgq)ﬁﬁmaﬁﬂwwﬁSmS@wﬁ faaisa e &, ©
(a) 47 (c) 51 (d 53

ﬁmfﬂf@ﬁwawaﬁﬁw%ﬁaﬁmﬁﬁq%ﬁqiﬂw FIT T FAHRETE |
hY
g X HEH SIRT 8T 2l & At STfeheR fhe ke | U S |

=T

L 9 ¥ IRe Ot & fog sfard €

. e foham | s ) iR e & | .

@ 1 () 1 () 1911 (d) TIH ¥ HIE &I
ffeiad sem e st @ &= o Wad gu ol 6 SF @1/ d S diichs €9 9 fRar ST/
%qaﬁ%n%m

gmwmﬁﬁ@éwﬁﬂﬁ&ﬁqﬁww |

I qehig iferT ot @I v Y ST =1ey |

[I.  IRYHIT &THAT i T Y ST AMMET |

1. He-ifdeh T Sl URA W Sef 37 Iy |

@ I (b) 10 () 11 (d Ia1I

ﬁm%f@ﬁwaaaﬁaﬁmaﬁtﬁmhvﬁﬁmﬁsaﬁqw/ﬁﬁw%ﬁwﬁ%/% l
qﬁﬂ%%mwaﬁwwmﬁmaﬁq 2
T &, 37 HTS FHAMET & [T Ig =17 B ST UG & foTu 3ifeaes shiferet SR Iugai & |

II. 2, 3T IR HHar! -1 AT |
I11. W,meﬂﬁﬁﬁﬁwwﬁwaﬁm

(@ 1911 (b) Ml © I (d) T 9 HIg &
F=feiad o= o fshet &t &= o Taee (ot L 76 &= a1 sy aifehs € |

h-

TSI | & ! HEwaqul i grdl & |

=Ry -

L vl ol o et o S |

I Tt & T Tod § 9T ed @ |

@ 1 (b)) 10 (c) 11l (d) TIH T HIE &l
=feiad o qer El & AF H W U A e 9/ @ s afes e /2 |

Soul
Tl & I 3T GAR™ ST & AU W § |
S e s e i

11 Series-A



47.

48.

49.

50.

51.

52.

53.

. 7ifal °§ UoNR & 31aER a9 916y |

III. el 3 9 i Sied & fou 25 g =mey |

@ I (b)y 1II (c) 1II (d) IaIll

The minimum number of colours required to fill the spaces in the diagram without any
two adjacent spaces having the same colour is

(@ 6 (b) 5 © 4 @ 3

Study the following statement and conclusions and decide which conclusion/conclusions
is/are logical.

Statement :

Soldiers serve their country.

Conclusions :

L. Men generally serve their country.

II.  Those who serve their country are soldiers.

III. Some men who are soldiers serve their country.

IV. Women do not serve their country because they are not soldiers.

(a) I (b)y 1I (c) 1 (d) IandlII

Study the following passage and find out which statement is best supported by this passage :
“The school has always been the most important means of transferring the wealth of
tradition from one generation to the next. This applies today in an even higher degree than
in former times for, through the modern development of economy, the family as bearer of
tradition and education has been weekend.”’

(a) There are means other than schools for transfer of traditions.

(b) Several different sources must be tried.

(¢) Economic development plays a crucial role.

(d) Family as ever, is the most popular means.

In an envelope, there are some currency notes whose total value is 100/- and their number
is 10. There is no currency note of 10/- denomination. How many notes of 5/-
denomination are there in the envelope ?

(@ 2 (b) 3 c 4 @ 5

Form the product S=1x2x3 x4 Xx5Xx6x7x8x9x....... x 50

Counting from unit’s place, the number of zeros in S is :

(a) 10 (b 11 ) 12 (d) None of these

In the following, find the option which is different from the other three options, which are
alike in some manner.
(@ 71,17,11,5 (b)) 71,67,7,3 (¢ 37,19,15,7 (d) 17,13,5,3

There is given below a question followed by two statements :

. . X
Question : x and y are two numbers, what is ; ?

5
Statement 1 (S1) : Their average is B times y.

Statement 2 (S2) : Their difference is 3.
Which one of the following is correct in order that specific answer to the question is obtained ?
(a) Both the statements S1 and S2 are not sufficient to answer the question.
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47.

48.

49.

50.

51.

52.

53.

LPS

(b) S1 alone is sufficient to answer the question.

(¢c) S2 alone is sufficient to answer the question.

(d) Either S1 alone or S2 alone is sufficient to answer the question.
%ﬁjﬁg?ﬁ%wﬁﬁ W ST Fret o= 3Tt FAaH H=1, STt 9 &1 UTH-9T9 & 9RT | U6
RLES s

(@ © (b)) 5 c 4 @ 3
TTRE e T TSRSl bl &I § TWaeht UT e Toh shid @1/ 9§ =hy aifee g /€ |
o

Afeh o707 SV HI AT HA & |

TRy

[ 9 oY 379 9T ohl Tl hid © |

II. S 3799 S bl T &, o WA © |

Il FS e St Aok &, 379+ 97 ! AT HA & |

IV. Wieed s7a= 2371 hl Qe el shldl saiteh o YTeh Fel gl & |

(@) I (b) I © I (d Il

F=foriad Saier b Tgeht TTIA o 1ok Shiv |1 He il R 98 314 FHST € 2

“TheT UYMW Teh W@l T SO Uigl § RN Jodl o g0l o Hewdqul 918 @ & | I8 3T
& Tua ° 3 i ik Hewaqul ¥, Uget ki 3TUETT, Hifch ek S faekra 7 uiar, i fh
TRERTST I 78T SRl A6 §, SRl hASTIX [ohdll § 17

(a) UERISAT & BEIRUT & ToTU Thet o STl 37 St AE= 8. |

(b) hE TafiT—=1 |l sl SATSTHET 96y |

(c) 3Tereh faemrd bl fuTiaess YT @ |

(d) URAR EHIM &I TE, TS AHYT AT & |

Tt T § o HE-dl Aie & ISRt et Jod 100/- & TG Al ol Tw=1 10 € | 10/- oI-ai bl
g W A T | TAwT o 5/- ea-ant o fohae e g 2

(@ 2 (b)) 3 (c) 4 (d 5

ThHUhH IAES =1 X2 X3 x4 X5X6Xx7TXx8X9x........ x 50

THIE o T 9 i o, S | 941 ol TR '

(a 10 (b)) 11 (c) 12 (d) T 9 HIS &l

T=feiad & 9 39 fashed ot T STt 317 |9 fashedl @ fohdt SRoT & 7= (31e7) © |
(a) 71,17,11,5 (Mb) 71,67,7,3 (¢) 37,19,15,7 (d 17,13,5,3

Y U U9 [ T ® | U9 & 915 & % (h-1 T H-2) g 1§
9T : x TAT y T WA & % T ?

I - 1 ($—1):Waﬁﬂﬁy$r%w% |

HAT - 2 (H-2) : STHR TR 3T |
U9 R Mivad 3o e, Tass foru fqefofaa & @ s ar 98t € 2
(a) W9 I ST UM o (10 AT e (-1 T H-2) 9T T8l & |
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(b) VYT HI ST UH & [T -1 3= T H 1T & |
(c) VYT H ST IH & [T h-2 U= 3T H 1T § |
(d) UYTH ST UH & [T h-1 U= 3T T Gl H-2 394 AT H AT S |
54. There is given below a question followed by two statements :
Question : Is x greater than y ?
Statement 1 : x is greater than 30.
Statement 2 : y is greater than 27.
Which one of the following is correct in order that specific answer to the question is
obtained ?
(a) Both the Statements 1 and 2 together are necessary to answer the question.
(b) Both the Statements 1 and 2 together are not sufficient to answer the question.
(c) Statement 1 alone is sufficient to answer the question.
(d) Statement 2 alone is sufficient to answer the question.

55. Below is given an Assertion (A) and Reason (R) thereof :
Assertion (A) : Salt is added to cook food at higher altitudes.
Reason (R) : Temperature is lower at higher altitudes.
Which one of the following is the correct answer ?
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)is true but (R) is false.
(d) (A)is false but (R) is true.

56. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : Pressure cookers are fitted with ebonite handles.
Reason (R) : Ebonite is strong.
Which one of the following is the correct answer ?
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)is true but (R) is false.
(d) (A)is false but (R) is true.

57. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : We prefer to wear white clothes in winter.
Reason (R) : White clothes are good reflectors of heat.
Which one of the following is the correct answer ?
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)is true but (R) is false.
(d) (A)is false but (R) is true.

58. Below is given an Assertion (A) followed by Reason (R) :
Assertion (A) : Goitre is a common disease in mountainous regions.
Reason (R) : Diet of the people in mountains lacks iodine content.
Which one of the following is the correct answer ?
(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(¢) (A)is true but (R) is false.
(d) (A)is false but (R) is true.
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59. The digit in the unit’s place of the number
171999 | 111999 _ 1999 .
(a) 3 (b)) 7 © 9 (d) None of these
54. 9 U U foman T § | U9 % 915 &1 e (-1 T H-2) @ T E
U x TNy T ST ?
-1 : x, 309 TSTE |
F-2:y,27 ATSTE |
v T [HivEa IR fiet, 39 fou Fefafad 5 | e ar 9@t g 2
(a) VYT HI ST UH & [T, AT F9F (F-1 T H-2) EIIFH T |
(b) U9 HT TR UM & I, AT HUT (h-1 F H-2) 9T &l & |
() USTHI ST UM & flT -1 397 3T T G & |
(d) YT HISTIH & T F-2 397 T T g & |

55. 9 U U (Fe) o € 3T Sq Ry off fear e

HIT (A) 2 SIS ITA TIFET H HIST Y= o fold SUH 99k HeAaT Sar g |
HROT (R) : TS ol AT H AI9H HH BT g |
TAteIiad 5 9 o= 97 9l ST ?

(@) (A) T (R)IIH T & T24T (R); (A) il Tel AT |

(b)  (A) T (R) IFI TF &, {91 (R), (A) i el SHAT 761 & |
(©) (A)TAE, fFg (R) AHFHE |

(d) (A) 9THS T, fh<q (R) TIE |

56. = T THIH (F29) 53 747 € 9 918 ST hIT [SAT AT S

T (A) : IR Py B TSIHISS o Bl (BSe7) TR Bl & |
T (R) : USIHTSS ATl &Il & |
ﬁm‘t%‘ﬁ@ﬁﬁﬁaﬁqwﬁﬁ?% ?

(@) (AT (R)TA uw%dw (R), (A) T T ATATE |

(b)  (A) T (R) IHI H &, [ (R), (A) il &l ATAT T& & |
(©) (A)FHFE, F<g (R) ATHFH T |

(d) (A) 9HF T, <] (R) TI T |

57. <9 UH TEIH (FEA) 5o 7 € A 918 ST hRUT [Sa1 TS

HIT (A) : SISl H Y8 o ToT0 89 e Hus bl aiadred & |
1T (R) : e HUS, HOT o 3T WEdeld & |
=TeRad O 9 i 91 9al ST e ?

(a) (A)a(R)ai—rﬁw%W(R) (A) T T&l AT E |

(b)  (A) T (R) 3 I €, fF=1 (R), (A) I T&l AT T2 & |
(©) (A)THT, < (R) 9HFH T |

(d) (A) 9HF T, g (R) TI T |

58. 9 Us uHRA (Fe9) f5ar mar & 59 918 S9! T [Kar T e
HIT (A) : TS &5 o Tiged (SEr U9) Ueh Wi SR 2 |
&HIOT (R) : TS &30 | AT o WIS | STEISi ol AT S el & |
T=foriad o 9 & 91 98 ST R ?
(2) (A)a(R)ai——ﬁw%am(R) (A) I TEI AT E |
(b)  (A) T (R) IHI TH &, {1 (R), (A) Tl T&l ATAT T&1 & |
© (A)FHFE, F<g (R) ATHFHT |
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59.

60.

61.

62.

63.

64.

65.

66.

% The Vision

(d) (A IHEFE, g (R) 9T |

e 17197 + 111979 2 719 1 e & e R a1 arett wen g

(@ 3 (b)) 7 © 9 (d) =T ¥ HIE @Y
Which of the following is correct ?

(a) The calendar for the year 2003 will serve for the year 2014.

(b) The calendar for the year 2003 was same as for 2013.

(¢) The calendar for the year 2003 was same as for 2012.

(d) The calendar for the year 2003 was same as for 2011.

Land price is a big hindrance to competitive Indian product and services because
(a) More land is required for urbanization in India.

(b)  Urbanization has increased land prices in India.

(c) Farmers are not ready to give their land for projects.

(d) High land prices increase the fixed cost in business.

Which one of the following is most appropriate to ensure desired limit of forests
prescribed in Indian forest policy ?

(a) Transfer agriculture land to forest land

(b) Increase forest land 2% per year

(c) By afforestation of land in a scientific manner

(d) Declare cutting of any kind of tree a criminal offence

Which of the following is different from the other three ?

(a 1719 (b) 2834 (c) 1528 (d) 2349

The relationship “Optimistic : Pessimistic’ is best explained in which one of the following ?
(a) Difficult : Impossible (b) Export : Import

(¢) Study: Play (d) Tolerating : Disgusting

Which one of the following is different from the other three ?
(a) HINI (b) PQQR © WYYZ (d TUUV

Which one of the following is different from the other three ?
(a) Algebra (b)  Arithmetic (¢) Geometry (d) Mathematics

Study the following figure and answer the question numbers 67, 68 and 69 :

67.

68.

69.

What is the number of squares contained in the figure ?
(@ 5 (b) 6 © 7 @ 38

What is the number of straight lines which is needed to construct the above figure ?
(a 13 (b) 15 © 11 @ 12

What is the number of triangles contained in the figure ?
(a) 16 (b) 20 o 22 d 24
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70.

60.

61.

62.

63.

64.

6S.

66.

A is elder to B while C and D are elder to E who lies between A and C. If C is elder to B,
which one of the following statements is necessarily true ?
(a) EiseldertoB (b) AiseldertoC (¢) CiseldertoD (d) DiseldertoC

TATeiaa o 9 I AT el & ?

(a) 2014 & T F&l Sheiws g ST 2003 6 forQ o |
(b) 2003 X 2013 & Hel=X GHF I |

(¢) 2003 AR 2012 & Hel=X GHF I |

(d) 2011 31X 2003 & Hei=X GHA I |

TRAT IS X TaT3Tt hi YA TeqS S T YT i AT Uh Sl 91L& F1h
(a) YIRA T BRI & TeTu 3Afeh i =t SAEvIhar g |

(b) TEAFOTE yRA T gy oAl ¥ ghg s & |

(c) uiErSTISA & foru fomam 37a STHIA 33 ol IR &1 8 |

(d) =9 YH-AN, FMUR T FREd AN & 9@ i g |

TRA I it gRT Faiia o ar & <18 6l UTed S o ToTu ffeiiad & & i |1 Ush gaitas
SUHT € 2

(a) T I T o Y T g0

(b) = I H Hiq a9 2% i Iis

(c) SN fafe o STTAR J-S-HI0T Hlch

(d) TRt «ff G & U$ Sl e i 79T F6T Hch

Tr=feiaa 9 | =i 91 3= 990 9 AT E ?

(a) 1719 (b) 2834 (c) 1528 d 2349
“STYMETET : [RIRMEE”’ & Ty hl (Tigd 5 o [haH Ted 37 diich ¥ TRy T g ?
(a) HicA : G (b) Tyt e

(c) UGHT : WA (d) TeI3ieT : NS
Trafeifiad 9 9 =i 91 U 37 qiF € AenT 8 2

(a) HIU (b) PQQR ) WYYZ (d) TUUV
Trafeifiad 9 9 =i 91 U 31 diFl § Ao e 2

(a) SowIOE (b) 3T (c) Saafa (d) iUt

= fSu T o Bl Sgeeh SigeR U9 WISt 67, 68 7 69 T ST S

67.

68.

69.

LPS

T T o 31 a1t o ST TS ?

(a) 5 (b) 6 c© 7 (d 8

I GLA T3 ol AT 41 & 1577 TeT [E1371 ahil SE9Teh 39 (o5 i S99 H gedi & ?
(@ 13 ) 15 © 11 d) 12
foar o 31 =t Brost Sl e R e 2

(@ 16 () 20 ) 22 d) 24
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70.

71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

ABETRIZETEE CaN D, EdaE ¢ IEEATCHFaAafems 13k C, B 9 g1 8, @@
frfeiad O & i 9T He STavaud 9 ¢ ?

(@ E,BAFstg | (b) A, C¥®EEI? | (¢) C,DITSE | (d) D,CIEATSI? |

If 50% of (x —y) is equal to 30% of (x + y), then what percent of x is the value of y ?

(a) 400% (b) 40% ) 15% (d) None of the above
The missing number in the following series :

5,41, 149, 329, is

(a) 481 (b) 489 (c) 581 (d) 589

If CONSTITUTION is coded as DNORUHUTUHPM in a certain language, how can
DISTRIBUTION be coded in that language ?

(a) EHTSTHCTUPHM (b) EHTSSHCTUHPM

(c) BHTSSHCTUHPM (d) EHTSSHCTUJNM

Find the value of
\J42 +J42 +/42 + ... upto =

(a) 7 (b)y -7 (¢c) -6 (d) None of these
What is the angle between the two hands of a clock at9::50 hours ?

(a)y 2° (b)y 5° (c) 8° d 10°

Find the average of all the even numbers and the average of all the odd numbers from 1 to 45.
(a) 24 and?23 (b) 23 and 24 (c) 24 and 25 (d) 23 and?23

Find all the possible values of x (where x is an integer) for the following expression :
5<3x+2<17
(@ 1,2,3,4,5 (b)) 1,2,3,4 © 2,3,4,5 d 3.4,5

A person was appointed for a 50 days job on a condition that he will be paid * 12 for every
working day but he will be fined ~ 6 for everyday he remains absent. After completion of
work, he gets * 420. For how many days he remained absent ?

(a) 5 days (b) 10 days (c) 12 days (d) 15 days

Find the missing number (marked as ?) in the following figure :
3

4 ? 4

4
(a) 4 (b)) 5 c 7 (d 8

A result of a survey of 1000 students with respect to their knowledge of History (H),
Geography (G) and Civics (C) is given below :
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71.

72.

73.

74.

75.

76.

77.

78.

79.

80.

LPS

What is the ratio of those who know all three subjects to those who know only Civics ?

(a) é (b) %O ©) 2i7 (d) None of these
afg (x — y) FT1 50%, (x + y) F 30% & SR &, A y T A x & foha= Ufaerd & 2

(@) 400% ®)  40% ) 15% (d) TIH 9 HIS T
Trafetaa gon

5,41, 149, 329, T e gs G=ATE ¢

(@) 481 (b) 489 (¢) 581 d) 589

afe CONSTITUTION &t fsh&t @wissfas v  DNORUHUTUHPM forar s g, at S&t
Hiehfaes AT § DISTRIBUTION Shi sh& forat SITae 2

(a) EHTSTHCTUPHM (b) EHTSSHCTUHPM

(¢) BHTSSHCTUHPM (d) EHTSSHCTUJNM

\J42 +\[42 +~[42 + ... 3T T B T T HRT |

@ 7 by -7 (0 -6 (d) TIH ¥ HiE &l
TSI I & e & S | 9 FteRY 50 e W fha= ster s i § 2

(a) 2° (b) 5° (c) 8° @ 10°

1 9 45 Tk Sl G 9T GeA13T Bl SArad a9 G fosT St st 3 30 i |

(a) 24723 (b) 23724 (c) 24725 (d) 23723
frafatad syt

5<3x+2<517
% ToTT x o (STRT x GUTish &) Tt riferd HT= I SHitTg |
(a) 1,2,3,4,5 (b)) 1,2,3.4 (c) 2,3.4,5 (d 3,4,5
50 &=t & ST & ToIT Ueh AT 39 1 W Mg [ohar 7T 7o 38 U i fead & 12 U sma
AR Tk STufed fe7 W 6 STHIHT S1eT ST | 6| 9ar 84 W 34 420 ot | 98 fhaa
TG sTguierT &1 2
(@) 5f= () 10f= () 12%= d 15f=
=i fope Tattes B ©21 g8 9% (2 § Tafed) 3 it -
3

4 9 4

4
(@ 4 (b) 5 © 7 @ 8

1000 ST & e (H), et (G) LT ANRER ¥ (C) o T % Td&TuT &1 gRone e fag o
feane :
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ST ST d=1 o ST € JeT STt ST helel AN IS ST €, Sehl ST =1 8 2

1 1 5 . .
@ g9 ® 70 © 3 (d) TIH 9 g T8

81 — 83 : Passage for comprehension

Note : Read the following passage carefully and answer the questions given below :

Since he returned from the war, things had not been quite the same. The day he returned, his
fiancée and his family met him at the station. They embraced, and wept, and later on they
laughed. His fiancée asked him if the war had been bad. He said it had been all right but he
wished so many of his men had not been killed. She said she had been simply dying for him to
come back. He said that was very nice of her. Then they talked of the blackouts and the air raids
and the things they had seen on T.V. By the time they reached home she was saying that
because of staying cooped indoors for so many evenings she had been eating too much and
would now have to diet. Now, where he had come from, days on end, he had not met a man,
woman or child who had not been hungry, always hungry.

81. Why did they embrace, weep and laugh when they met at the station.?
(a) Because he was coming from a long distance:
(b) Because he was coming after a long time.
(¢) Because they were so happy to see him safely back from the war.
(d) Because the war was over.

82. Why were people always hungry at the place from where he had come ?
(a) Because they were dieting.
(b) Because there was a scarcity of food.
(c) Because they did not like the food.
(d) Because they had no time to eat.

83. The meaning of the word ‘Cooped’ is :
(a) Confined (b) Beingidle (¢) Sitting (d) Sleeping

84. Which of the given alternatives best expresses the underlined part of the sentence ?
They venerated the old teacher.

(a) respected (b) followed (¢) questioned (d) argued

85. Give the one word substitution of ‘the act of killing a person painlessly for reasons of
mercy’.
(a) Expiate (b) Euthanasia (¢) Epitaph (d) Eradicate

86. Put the following sentence into indirect speech :
He said to me, “what were you doing ?”
(a) He said to me what I was doing.
(b) He asked me what I had been doing.
(¢) He asked me what I was doing.
(d) He asked me what was I doing.
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87. What is the antonym of ‘Dusky’ ?
(a) White (b) Interesting (c) Bright (d) Slow
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‘m
g3 Gt 88 9 93 [ ufad =i |

frfeAfiaa Terier & STaR W = g8 T 7R % 3T aI

HEPIA 3R g6 & Ty 9gd St ¢ | Sfde™ W S S WX THT 71T & ST HEhid a8 1 8f 37
T E | ST off TTIROTTAT SHHT 3T F¥eh 33T GIVRST 81 SIAT & | 3794 ol T & TER(d 9 70T & o =72,
T UeTe T ol F§ TR &, FAITh 95 U] 9gd UM &, 39 Gahlael § &R TaiaH & | ST g1 sl &9
T o, %Wﬁg@ﬂm ST T &l T &1, Teh STa=-Uz1 hl IREmeh o1, Id 0= Sita
T I AT T T T ST A SO § 3 F SARIHAT & TRl o N Fg SAATAHAT STAF THE
e foo1 & Uer 8 TR @, U off 96 onrar | 9y o faued-faged el § Sed o, oife 9§ 31fdeh etk o
3T M I T, TS IHA P RN 3R GATHT ! T 3 Ul SHH TG gl o ol af dR-eR
TE U A | ST | IRHHT l Al F T e o oY o T W TR 81 81 Fehl, =] HIeAT<R H
e HHFHVS AN SATTRarE-=T4 Agehq AT T ST g3, T T TAG 81 T | & Th g a7hT
WIET | ... B TR T FER AT &, mﬂﬁsa@%ﬁwﬁﬁﬁ?ﬁ% ot ot A dred =T8l, ST I8
w%mﬁﬁﬁmﬁ@%?qmm% | HEhia H TRl et 3R 3T ST & Tt T &l 8§, ST
A Fgie 38l e’ W ol & 3R o fag)s IS § |
88. ‘g’ T HoT 32 &I ¥

(a) T HT AT G S (b)  STUIET FT h UTd AT

(©) Wﬁwaﬁ'{waﬁw (d) THEET odr shi TYT
89. YT TATTARUT & STAR “WEH{A Hl MR E :

(a)  Afcerigar (b) TIUT (c) = SitEe-Te= (d) e
90. =Tl § @ Ueh fo@isar Saigd il H¥Ehid @i 7l & :
(a) TG B JES G ST | (b)  FERI o ford ST =il A0 T |
(©) WW@T&TW | (d) Tafa=T oot s HIART AR HAT |

91. ‘YN’ & T U WEHI -SIET A1 3TeTT & ATed § ST
(a) T g9 H HHBUES Y FUfawarg i sniadid g3 |
(b) ST g, ARHSTIehdT & U o7 |
(c) ST YT I ©Y ATIH 4T |
(d) ST g9 SHa—-Ygid ol YRETEsh o |

92. fraie’ & FEAfAiad ¥ § U 37 T8l §

(a) JIRlEd (b) TR (c) femds=s® (d) WS
93. Yi¥hor I [Fy AT HI1E ?
(a) Tt (b) T (c) 3wEn (d) HRE
94. YO IE HI faAT T
(a) T (b) &Y (c) wImvad d) 3R
95. frAffigd O | “Hger e T UATIAT Ieg shid AT &l & ?
(a) AT (b) HHUTA (c) THHET (@ =
96. ‘TR’ T U UM ¥ . ‘
(a) T b)) (c) Tr=@ (d) TTH 9 HiE &l
97. fr=fofea o ¥ sgeifes Ty frad g 2
(a) Hrar-faar ORESIE (c) STeTER (d) e
98. T ST TR I 37 ¥
(a) 2T I SR Gl HEAT (b)  hH-HIST GHAT
(c) Tamen Heperr (d) ﬂa\—cﬁiﬁﬁg—{m
99, TGS I G WIS T FIEAAT & - AThITRT T 37T §
(a) I T U9 37a9T USaAT & | (b) I SART G AT ST |
(c) HUSYU FETER | (d) TU T et TRET IS |
100. fr=fefiad 0 9 dedqq g hia @1 e ?
(a) TR (b) AR (c) @lelr (d) it
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